
ØD C

6 G1/4 3158 06 13

8 G1/8 3158 08 10

8 G1/4 3158 08 13

8 G3/8 3158 08 17

10 G1/4 3158 10 13

10 G3/8 3158 10 17

10 G1/2 3158 10 21

12 G3/8 3158 12 17

12 G1/2 3158 12 21

6 M5x0,8 3158 06 19

4 M5x0,8 3158 04 19

4 G1/4 3158 04 13

4 G1/8 3158 04 10

6 G1/8 3158 06 10

3158

ØD C

4 R1/8 3112 04 10

4 R1/4 3112 04 13

6 R1/8 3112 06 10

6 R1/4 3112 06 13

3112

ØD C

4 G1/8 3132 04 10

4 G1/4 3132 04 13

6 G1/8 3132 06 10

6 G1/4 3132 06 13

3132

ØD C

4 M5x0,8 3131 04 19

4 G1/8 3131 04 10

4 G1/4 3131 04 13

6 G1/8 3131 06 10

6 G1/4 3131 06 13

8 G3/8 3131 08 17

8 G1/8 3131 08 10

8 G1/4 3131 08 13

10 G1/2 3131 10 21

10 G1/4 3131 10 13

10 G3/8 3131 10 17

12 G1/2 3131 12 21

12 G3/8 3131 12 17

14 G1/2 3131 14 21

14 G3/8 3131 14 17

3131

ØD C

4 R1/8 3108 04 10

4 R1/4 3108 04 13

6 R1/8 3108 06 10

6 R1/4 3108 06 13

8 R1/8 3108 08 10

10 R1/4 3108 10 13

8 R1/4 3108 08 13

8 R3/8 3108 08 17

12 R1/4 3108 12 13

10 R3/8 3108 10 17

10 R1/2 3108 10 21

12 R1/2 3108 12 21

12 R3/8 3108 12 17

14 R1/2 3108 14 21

14 R3/8 3108 14 17

3108

ØD C

4 M5X0,8 3198 04 19

4 G1/8 3198 04 10

4 G1/4 3198 04 13

6 M5X0,8 3198 06 19

6 G1/8 3198 06 10

8 G1/4 3198 08 13

6 G1/4 3198 06 13

8 G1/8 3198 08 10

10 G3/8 3198 10 17

8 G3/8 3198 08 17

10 G1/4 3198 10 13

12 G1/4 3198 12 13

10 G1/2 3198 10 21

12 G1/2 3198 12 21

12 G3/8 3198 12 17

14 G1/2 3198 14 21

14 G3/8 3198 14 17

3198
ØD C

4 M5x0,8 3193 04 19

4 G1/8 3193 04 10

4 G1/4 3193 04 13

6 G1/8 3193 06 10

6 M5x0,8 3193 06 19

6 G1/4 3193 06 13

8 G3/8 3193 08 17

8 G1/8 3193 08 10

8 G1/4 3193 08 13

10 G1/2 3193 10 21

10 G1/4 3193 10 13

10 G3/8 3193 10 17

12 G1/2 3193 12 21

12 G1/4 3193 12 13

12 G3/8 3193 12 17

14 G1/2 3193 14 21

14 G3/8 3193 14 17

3193

ØD C

4 R1/8 3103 04 10

4 R1/4 3103 04 13

6 R1/8 3103 06 10

6 R1/4 3103 06 13

8 R1/8 3103 08 10

10 R1/4 3103 10 13

8 R1/4 3103 08 13

8 R3/8 3103 08 17

12 R1/4 3103 12 13

10 R3/8 3103 10 17

10 R1/2 3103 10 21

12 R1/2 3103 12 21

12 R3/8 3103 12 17

14 R1/2 3103 14 21

14 R3/8 3103 14 17

3103

ØD C

4 R1/8 3148 04 10

4 R1/4 3148 04 13

6 R1/8 3148 06 10

6 R1/4 3148 06 13

8 R1/8 3148 08 10

10 R1/4 3148 10 13

8 R1/4  3148 08 13

8 R3/8 3148 08 17

12 R3/8 3148 12 17

10 R3/8 3148 10 17

10 R1/2 3148 10 21

12 R1/2 3148 12 21

3148

ØD C

4 G1/8 3192 04 10

4 G1/4 3192 04 13

6 G1/8 3192 06 10

6 G1/4 3192 06 13

8 G1/8 3192 08 10

10 G1/4 3192 10 13

8 G1/4 3192 08 13

8 G3/8 3192 08 17

12 G1/4 3192 12 13

10 G3/8 3192 10 17

10 G1/2 3192 10 21

12 G1/2 3192 12 21

12 G3/8 3192 12 17

3192

ØD C

4 R1/8 3121 04 10

4 R1/4 3121 04 13

6 R1/8 3121 06 10

6 R1/4 3121 06 13

8 R1/8 3121 08 10

10 R1/4 3121 10 13

8 R1/4 3121 08 13

8 R3/8 3121 08 17

12 R3/8 3121 12 17

10 R3/8 3121 10 17

10 R1/2 3121 10 21

14 R1/2 3121 14 21

12 R1/2 3121 12 21

3121

ØD C

4 R1/8 3159 04 10

6 R1/8 3159 06 10

6 R1/4 3159 06 13

8 R1/8 3159 08 10

8 R1/4 3159 08 13

8 R3/8 3159 08 17

10 R1/4 3159 10 13

10 R3/8 3159 10 17

12 R1/4 3159 12 13

12 R3/8 3159 12 17

3159ØD C

4 M5x0,8 3189 04 19

4 G1/8 3189 04 10

6 M5x0,8 3189 06 19

6 G1/8 3189 06 10

6 G1/4 3189 06 13

8 G1/8 3189 08 10

8 G1/4 3189 08 13

8 G3/8 3189 08 17

10 G1/4 3189 10 13

10 G3/8 3189 10 17

12 G1/4 3189 12 13

12 G3/8 3189 12 17

3189

4 3100 04 00

6 3100 06 00
8 3100 08 00

10 3100 10 00

12 3100 12 00

ØD

3100 A free service accessible to everyone.

Download CAD drawings

of all LF 3000® models from 

"Y" piece with male BSPP 
and M5 thread

double "Y" piece with male
BSPT thread

double "Y" with male BSPP
thread

male parallel and M5 threaded
standpipe

male stud branch tee,
BSPT thread

male stud branch tee BSPP 
and M5 thread

male stud run tee BSPP and M5
thread

male stud run tee, BSPT thread

"Y" piece with male BSPT
thread

female stud elbow, 
BSPP thread

male BSPT threaded standpipe

oscillating compact elbow, 
BSPT stud

oscillating compact elbow,
BSPP and M5 stud

carstick®

carstick®

cartridge


